Efficiency vs Dxy(PV)
0.1
0.09F

efficiency vsO dxy(PV)

0.01--{M - o
o .oF il i doidle,
5 _ “ HNANEI
& |H :
-+ A || |I\||| In Tl
-25-20-15-10 15 20 25

TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFitbase_ RECO

[Efficieng —— DQM_V0001_R000000001_Global__CMSSW_X_Y_Z_RECO

S 0.15
S0.00F -+
20.08fFf---
2

20.07F-|

ﬁ \’

So.0ef -4 |
%005-
0.04f ,
0.03} ‘:h. ‘|
0.02F ” .! |‘\
Al

9

Ratio

1-080604-02 0 0204 o 608 1

TP dxy(PV) (cm)

> .
Lo.18 :
S :
mom
0014
L>012

o1kl --
0.08F-¢] - - +4
0.06f{H8 - | 1
.04 - hi
o.02f--

okl




	Contents
	Page 1


